ON THE SUFFICIENT CONDITIONS OF MONOGENEITY FOR FONCTIONS OF COMPLEX-TYPE VARIABLE

SORIN G. GAL

ABSTRACT. The theories of functions of hyperbolic and dual complex variable were deeply investigated between 1935 and 1941 as parallel theories with the classical complex analysis (see e.g. [2-6], [13-20]).

In some recent papers [7-8], [10-11], these theories present interest by some applications in the interpretation of physical phenomenoms.

In this spirit of ideas, the purpose of this paper is firstly to prove by counter-examples that the sufficient conditions of monogeneity in [5, p.148] and in [14, Theorem V, p.258] are false and secondly, to consider new correct conditions of monogeneity which moreover have the advantage of an unitary presentation.

1. INTRODUCTION

It is well known that a two-component number system forming an algebraic ring can be written in the form z=a+qb, $a,b\in R$, where q satisfies the equation $q^2=\alpha q+\beta$ with fixed α , $\beta\in R$. An important result states that all the systems $C_q=\{z=a+qb,a,b\in R\}$ are ring isomorphic with one of the following three types (see e.g. [9]):

- (i) C_q with $q^2 = -1$, called the system of usual complex number, if $\alpha^2/4 + \beta < 0$;
- (ii) C_a with $q^2=0$, called the system of dual complex numbers, if $\alpha^2/4+\beta=0$;
- (iii) C_q with $q^2=+1$, if $\alpha^2/4+\beta>0$. In this case, a number in C_q is called binary [9], or double [21], or perplex [7-8], or anormal complex [1], or hyperbolic complex [4-6], [13].

While the theory of functions of usual complex variable is well known and does not represents the aim of the present note, the teory of functions of hyperbolic complex and dual complex variable was deeply investigated between 1935 and 1941 in e.g. [2-6], [13-20] (see also the more recent monograph [12] for generalisations to functions of hypercomplex variables).

In some recent papers (see e.g. [7-8], [10-11]), these theories were been taken in attention by some applications in the interpretation of physical phenomenoms.

In this spirit of ideas we firstly prove by counter-examples that the sufficient conditions

of monogeneity in [5, p.148] and that the Theorem V in [14, p.258] are false and secondly, we consider new correct conditions of monogeneity which present the advantage that all the three cases $q^2 = -I$, $q^2 = 0$ and $q^2 = +I$ can be more unitaryly treated.

Throughout in this paper we will consider $q^2=+1$, or $q^2=0$, or $q^2=-1$ and a number z=a+qb will be called q - complex number.

2. CONDITIONS OF MONOGENEITY

Keeping the notations in Introduction we can consider the following

DEFINITION 2.1 ([13], [14]). If $z=a+bq\in C_q$ then $|z|=\sqrt{a^2+b^2}$ represents the modulus of the q-complex number z, in all the three cases $q^2=+1$, $q^2=0$ and $q^2=-1$. Also, $N_q(z)=a^2-q^2b^2$ represents the q-norm of the q-complex number z.

THEOREM 2.2 ([13], [14]). If $q^2=0$ or $q^2=+1$ then the set of all divisors of 0 in C_q is given by $Z_q=\left\{z=a+qb;N_q(z)=0\right\}$. Also, if $z\in C_q\setminus Z_q$ then z is invertible.

REMARK. If $q^2 = -1$ then $Z_q = \{0\}$ and C_q is even a field.

Let $D \subset C_q$ be and $f:D \to C_q$. Then we can write: f(z) = u(x,y) + qv(x,y), for all $z = x + qy \in D$, where u and v are real functions of two real variables.

DEFINITION 2.3 ([5], [14]). f is called q-monogenic in $z_0 \in D$ if there exists the limit

DEFINITION 2.3 ([5], [14]).
$$f$$
 is called q

$$\lim_{\substack{z \to z_0 \\ z - z_0 \notin Z_q}} [f(z) - f(z_0)]/(z - z_0) = f'(z_0)$$

Concerning this concept, the following results are known.

THEOREM 2.4 ([5, p. 147]). Let $q^2 = +1$. If f is q-monogenic in $z_0 = x_0 + qy_0 \in D$, then u and v have partial derivatives of order one in (x_0, y_0) and the equalities

(1)
$$[\partial u/\partial x](x_0, y_0) = [\partial v/\partial y](x_0, y_0), [\partial u/\partial y](x_0, y_0) = [\partial v/\partial x](x_0, y_0)$$
hold

THEOREM 2.5 ([5, p. 148]). Let $q^2 = +1$. If u and v have continuous partial derivatives of order one in (x_0, y_0) which satisfy (1), then is q-monogenic in $z_0 = x_0 + qy_0$.

THEOREM 2.6 ([14, Theorem V, p.258]). Let $q^2=0$. The function f is q-monogenic in $z_0=x_0+qy_0\in D$ if and only if u and v are differentiable in (x_0,y_0) and satisfy

(2)
$$\left[\partial u / \partial y \right] \left(x_0, y_0 \right) = 0, \left[\partial u / \partial x \right] \left(x_0, y_0 \right) = \left[\partial v / \partial y \right] \left(x_0, y_0 \right).$$

Firstly, we will prove by counter - examples that the Theorems 2.5 and 2.6 are false. Indeed, let us define $u(x,y)=x^2+y^2$, v(x,y)=0 and f(z)=u(x,y)+qv(x,y)=u(x,y), for all z=x+qy.

Obviously u and v have continuous partial derivative of order one in (0,0), which implies that u is differentiable in (0,0). Also, we immediately get

$$[\partial u/\partial x](0,0) = [\partial v/\partial y](0,0) = 0, [\partial u/\partial y](0,0) = [\partial v/\partial x](0,0) = 0.$$
Let $q^2 = +1$. We have

$$\lim_{\substack{z \to z_0 \\ z \notin Z_q}} [f(z) - f(0)]/z = \lim_{\substack{x, y \to 0 \\ |x| \neq |y|}} u(x,y)/(x+qy) = \lim_{\substack{x, y \to 0 \\ |x| \neq |y|}} (x^2 + y^2)/(x^2 - y^2) = \lim_{\substack{x, y \to 0 \\ |x| \neq |y|}} (x^2 + y^2)/(x^2 - y^2) = \lim_{\substack{x, y \to 0 \\ |x| \neq |y|}} (x^2 + y^2)/(x^2 - y^2).$$

But if we choose, for example, $x_n = 1/\sqrt{n}$, $y_n = 1/\sqrt{n+1}$ we get $x_n \to 0$, $y_n \to 0$, $\left|x_n\right| \neq \left|y_n\right|$ and

$$x_n(x_n^2 + y_n^2)/(x_n^2 - y_n^2) = (1/\sqrt{n}) \cdot (1/n + 1/(n+1))/[1/n - 1/(n+1)] =$$

$$n(n+1)\cdot(2n+1)/[n(n+1)\sqrt{n}] = (2n+1)/\sqrt{n} \to +\infty$$
, for $n \to +\infty$.

Analogously,

$$y_n(x_n^2 + y_n^2)/(x_n^2 - y_n^2) = (2n+1)\sqrt{n+1} \to +\infty$$
, for $n \to +\infty$.

As conclusion, f is not monogenic in z=0 although u and v satisfy the conditions in Theorem 2.5. This means that Theorem 2.5 is false.

Now, let $q^2=0$. We get

$$\lim_{\substack{z \to 0 \\ z \notin Z_q}} [f(z) - f(0)] / z = \lim_{\substack{x,y \to 0 \\ x \neq 0}} u(x,y) / (x + qy) =$$

$$\lim_{\substack{x,y\to 0\\x\neq 0}} \left(x^2 + y^2\right) \left(x - qy\right) / x^2 = \lim_{\substack{x,y\to 0\\x\neq 0}} \left(x^2 + y^2\right) / x - q \cdot \lim_{\substack{x,y\to 0\\x\neq 0}} \left(x^2 + y^2\right) / x^2$$

But choosing $x=y^3$, $y \ne 0$, we obtain

$$(x^2+y^2)/x = y^3+y^2/y^3 = y^3+1/y \to +\infty$$
, for $y \to 0$

and

$$y(x^2+y^2)/x^2 = y+y^3/y^6 = y+1/y^3 \to +\infty$$
, for $y\to 0$.

As conclusion, f is not monogenic in z=0, although u and v are differentiable in (0,0) and satisfy the relations (2) in Theorem 2.6. This means that the sufficient conditions in Theorem 2.6. are false.

Now, let f(z) = u(x,y)+qv(x,y), z = x+qy, $q^2=0$, where

$$u(x,y) = \begin{cases} x, x \neq 0, y \in R \\ |y|, x = 0, y \in R \end{cases}, \quad v(x,y) = \begin{cases} y, x \neq 0, y \in R \\ 0, x = 0, y \in R \end{cases}$$

We have u(0,0) = v(0,0) = f(0) = 0 and

$$\lim_{\substack{z \to 0 \\ z \notin Z_q}} [f(z) - f(0)]/z = \lim_{\substack{x,y \to 0 \\ x \neq 0}} [u(x,y) + qv(x,y)]/(x + qy) =$$

$$\lim_{\substack{x,y\to 0\\x\neq 0}} (x+qy)/(x+qy) = 1 = f'(0)$$

i.e. f is monogenic in z=0.

On the other hand, $(\partial u/\partial y)(0,0)$ does not exists because

$$\lim_{\substack{y \to 0 \\ y \neq 0}} [u(0, y) - u(0, 0)] / y = \lim_{\substack{y \to 0 \\ y \neq 0}} |y| / y$$

As conclusion the necessary conditions in Theorem 2.6. also are false.

In the sequel we will give correct versions for the above Theorems 2.5. and 2.6. Firstly, we will introduce the following.

DEFINITION 2.7. Let $u: M \to R, M \subset R^2$ be and $(x_0, y_0) \in M$. We say that u is q-differentiable in (x_0, y_0) if there exist $A, B \in R$ and $\omega = \omega(x, y)$ with

$$\lim_{\substack{x \to x_0 \\ y \to y_0 \\ z = z_0 \notin Z_a}} \omega(x, y) = \omega(x_0, y_0) = 0 \text{ where } z = x + qy, \ z_0 = x_0 + qy_0 \text{ such that }$$

 $u(x,y) - u(x_0,y_0) = A(x-x_0) + B(y-y_0) + \omega(x,y) \cdot N_q(z-z_0) / \left| z - z_0 \right|, for \ all \ (x,y) \in M$ with $z-z_0 \notin Z_q$.

REMARKS. 1). Obviously we have

$$N_{q}(z-z_{0})/|z-z_{0}| = \left[\left(x-x_{0}\right)^{2}-q^{2}\left(y-y_{0}\right)^{2}\right]/\sqrt{\left(x-x_{0}\right)^{2}+\left(y-y_{0}\right)^{2}}$$

2). If $q^2 = -1$ then the Definition 2.7 becomes the usual definition of differentiability in (x_0, y_0) . Concerning the q - differentiability we can prove the following.

LEMMA 2.8. (i) Let $q^2 = +1$. If u is q - differentiable in (x_0, y_0) then there exists $[\partial u/\partial x](x_0, y_0) = A$ and $[\partial u/\partial y](x_0, y_0) = B$.

(ii) Let $q^2 = 0$. If u is q - differentiable in (x_0, y_0) then there exists $[\partial u/\partial x](x_0, y_0) = A$. If moreover there exist $\delta > 0$ such that F(x) = u(x,y) is continuous as function of x in $|x_0|/|y-y_0| < \delta$, then there exists $[\partial u/\partial y](x_0, y_0) = B$.

PROOF. (i) Taking in Definition 2.7 $x = x_0$ and $y \neq y_0$ (which implies $z - z_0 \notin Z_q$), we obtain

$$u(x_0, y) - u(x_0, y_0) = B(y - y_0) + \omega(x_0, y) \cdot \left[-(y - y_0)^2 \right] / |y - y_0|.$$

Dividing by $y - y_0 \neq 0$ and then passing to limit with $y \rightarrow y_0$ we get

$$\lim_{\substack{y \to y_0 \\ y \neq y_0}} [u(x_0, y) - u(x_0, y_0)] / (y - y_0) = B - \lim_{\substack{y \to y_0 \\ y \neq y_0}} \omega(x_0, y) (y - y_0) / |y - y_0| = B$$

since

$$\lim_{\substack{x \to x_0 \\ y \to y_0 \\ z - z_0 \notin Z_q}} \omega(x, y) = \lim_{\substack{y \to y_0 \\ y \neq y_0}} \omega(x_0, y) = 0$$

Analogously, taking in Definition 2.7 $y=y_0$ and $x \neq x_0$ and reasoning as above, we get that there exists $\left[\frac{\partial u}{\partial y}\right](x_0, y_0) = B$.

(ii) Taking in Definition 2.7 $y = y_0$ and $x \neq x_0$ (which implies $z - z_0 \notin Z_q$), we obtain $u(x, y_0) - u(x_0, y_0) = A(x - x_0) + \omega(x, y_0) \cdot |x - x_0|, \forall x \neq x_0$.

Dividing by $x - x_0 \neq 0$ and passing to limit with $x \to x_0$ we immediately get $[\partial u/\partial x](x_0, y_0) = A$

Now, let $|y-y_0| < \delta$, $y \neq y_0$ be fixed. Passing to limit with $x \to x_0$, $x \neq x_0$ in Definition 2.7, we obtain

$$u(x_0, y) - u(x_0, y_0) = B(y - y_0) + \lim_{\substack{x \to x_0 \\ x \neq x_0}} \omega(x, y) (x - x_0)^2 / \sqrt{(x - x_0)^2 + (y - y_0)^2}$$

for all $|y-y_0| < \delta$, $y \neq y_0$.

But by $\lim_{\substack{x \to x_0 \\ y \to y_0 \\ x \neq x_0}} \omega(x, y) = 0$ follows that for $\varepsilon > 0$, there exists $\delta_1 > 0$ such that $|\omega(x, y)| < \varepsilon$, for

all $|x-x_0| < \delta_1$, $x \neq x_0$ and all $|y-y_0| < \delta_1$.

Denote $\delta_0 = \min\{\delta, \delta_1\}$ and let $|y - y_0| < \delta_0, \ y \neq y_0$.

We get $\lim_{\substack{x \to x_0 \\ x \neq x_0}} \left| \omega(x, y) \right| \le \varepsilon$, for all $\left| y - y_0 \right| < \delta_0$, $y \ne y_0$. Since

$$(x-x_0)^2/\sqrt{(x-x_0)^2+(y-y_0)^2} = |x-x_0|\cdot|x-x_0|/\sqrt{(x-x_0)^2+(y-y_0)^2} \le |x-x_0|, \text{ we obtain}$$

$$\lim_{\substack{x \to x_0 \\ x \neq x_0}} \left| \omega(x, y) \right| \cdot \left(x - x_0 \right)^2 / \sqrt{\left(x - x_0 \right)^2 + \left(y - y_0 \right)^2} \le \varepsilon \cdot \lim_{\substack{x \to x_0 \\ x \neq x_0}} \left| x - x_0 \right| = 0 \text{ for all } \left| y - y_0 \right| < \delta_0, \ y \neq y_0$$

As conclusion,

$$u(x_0, y) - u(x_0, y_0) = B(y - y_0), \ \forall \ y \neq y_0, \ |y - y_0| < \delta_0.$$

Therefore, dividing with $y - y_0 \neq 0$ and then passing to limit with $y \rightarrow y_0$ we obtain $\left[\frac{\partial u}{\partial y} \right] (x_0, y_0) = B$, which proves the lemma.

A correct version of Theorem 2.5 is the

THEOREM 2.9 Let
$$q^2 = +1$$
 be and $f: D \to C_q$, $D \subset C_q$, $f(z) = u(x,y) + qv(x,y)$,

$$z = x + qy \in D \quad z_0 = x_0 + qy_0 \in D$$

If u and v are q - differentiable in (x_o, y_o) and satisfy the relations (1) in Theorem 2.5, then f is q-monogenic in z_o .

PROOF. By hypothesis and by Lemma 2.8, (i) we get

$$u(x,y) - u(x_0,y_0) = a(x-x_0) + b(y-y_0) + \omega_1(x,y) \cdot \left[(x-x_0)^2 - (y-y_0)^2 \right] / \sqrt{(x-x_0)^2 + (y-y_0)^2},$$

$$v(x,y) - v(x_0,y_0) = b(x-x_0) + a(y-y_0) + \omega_2(x,y) \cdot \left[(x-x_0)^2 - (y-y_0)^2 \right] / \sqrt{(x-x_0)^2 + (y-y_0)^2},$$
for all $x-x_0+q(y-y_0) = z-z_0 \notin Z_q$, where $\lim_{\substack{x \to x_0 \\ y \to y_0 \\ z-z_0 \notin Z_q}} \omega_j(x,y) = 0$, $j=1,2$.

By simple calculus we obtain

$$f(z) - f(z_0) = (a + bq)(z - z_0) + \left[\omega_1(x, \nu) + q\omega_2(x, \nu)\right] \cdot \left[\left(x - x_0\right)^2 - \left(\nu - \nu_0\right)^2\right] / \sqrt{\left(x - x_0\right)^2 + \left(\nu - \nu_0\right)^2}.$$

Dividind by $z - z_0 \notin Z_q$ and then multiplying by $I = [(x - x_0) - q(y - y_0)]/[(x - x_0) - q(y - y_0)]$ on the right hand, the above equality becomes

$$[f(z)-f(z_{0})]/(z-z_{0}) = a+bq+[(x-x_{0})-q(y-y_{0})] \cdot [\omega_{1}(x,y)+q\omega_{2}(x,y)]/\sqrt{(x-x_{0})^{2}+(x-x_{0})^{2}}$$

$$= a+bq+(x-x_{0})\cdot\omega_{1}(x,y)/\sqrt{(x-x_{0})^{2}+(y-y_{0})^{2}} - (y-y_{0})\cdot\omega_{2}(x,y)/\sqrt{(x-x_{0})^{2}+(y-y_{0})^{2}} + q[(x-x_{0})\cdot\omega_{2}(x,y)/\sqrt{(x-x_{0})^{2}+(y-y_{0})^{2}} - (y-y_{0})\cdot\omega_{1}(x,y)/\sqrt{(x-x_{0})^{2}+(y-y_{0})^{2}}]$$

 $\operatorname{By} \left| x - x_0 \right| / \sqrt{\left(x - x_0 \right)^2 + \left(y - y_0 \right)^2} \leq 1 \text{ and } \left| y - y_0 \right| / \sqrt{\left(x - x_0 \right)^2 + \left(y - y_0 \right)^2} \leq 1, \text{ passing to limit with } z \to z_0, \ z - z_0 \not\in Z_q \text{ (which is equivalent with } x \to x_0, y \to y_0, \ \left| x - x_0 \right| \neq \left| y - y_0 \right| \text{), we immediately get that there exists } \lim_{\substack{z \to z_0 \\ z - z_0 \not\in Z_q}} \left[f(z) - f(z_0) \right] / (z - z_0) = a + qb \text{ which proves the }$

theorem.

Now, a correct version of Theorem 2.6 is the

THEOREM 2.10. Let $q^2 = 0$ and $f: D \to C_q$, $D \subset C_q$, f(z) = u(x,y) + qv(x,y), $z = x + qy \in D$, $z_0 = x_0 + qy_0 \in D$, such that F(x) = u(x,y) and G(x) = v(x,y) are continuous as functions of x in x_q for all y belonging to a neighbourhood of y_q denoted by $V(y_q)$.

If f is q-monogenic in z_0 , then u and v satisfy the relations (2) in Theorem 2.6.

Conversely, if u and v are q-differentiable in (x_0, y_q) and satisfy the relations (2) in Theorem 2.6, then f is q-monogenic in z_0 .

PROOF. Let suppose that f is q-monogenic in z_q

Let us denote
$$h(z) = [f(z) - f(z_0)]/(z - z_0) - f^{\dagger}(z_0) =$$

$$= [f(z) - f(z_0)]/(z - z_0) - (a + bq) = h_1(x, y) + qh_2(x, y), \quad z - z_0 \notin Z_a(i.e. \ x \neq x_0).$$

By hypothesis we get
$$\lim_{\substack{x \to x_0 \\ y \to y_0 \\ x \neq x_0}} h_i(x, y) = 0, i = \overline{1,2}$$
 and

 $h_1(x,y)+qh_2(x,y)=[u(x,y)-u(x_0,y_0)+q(v(x,y)-v(x_0,y_0))]/[(x-x_0)+q(y-y_0)]-(a+qb), x\neq x_0.$ By simple calculus, for all $x\neq x_0$ and all y with $z,z_0,z-z_0\in D$, we obtain

(3)
$$u(x,y)-u(x_0,y_0)=a(x-x_0)+h_1(x,y)(x-x_0),$$

(4)
$$v(x,y) - v(x_0,y_0) = b(x-x_0) + a(y-y_0) + h_2(x,y)(x-x_0) + h_1(x,y)(y-y_0)$$

Taking y=y₀ in (3), dividing with $x-x_0 \neq 0$ and then passing to limit with $x \to x_0, x \neq x_0$, it follows that $[\partial u/\partial x](x_0, y_0) = a$, since $\lim_{\substack{x \to x_0 \\ y \to y_0}} h_1(x, y) = \lim_{\substack{x \to x_0 \\ x \neq x_0}} h_1(x, y_0) = 0$.

Then, passing with $x \to x_0$ in (3) and taking into account that F(x) = u(x, y) is continuous in x_0 , we get

(5)
$$u(x_0, y) - u(x_0, y_0) = \lim_{\substack{x \to x_0 \\ x \neq x_0}} h_1(x, y) \cdot 0, \forall y \in V(y_0).$$

But reasoning exactly as in the proof of Lemma 2.8, (ii), (for $\omega(x, y) \equiv h_1(x, y)$), there exists a neighbourhood $V_1(y_0)$ such that $|\lim_{\substack{x \to x_0 \\ x \neq x_0}} h_1(x, y)| = \lim_{\substack{x \to x_0 \\ x \neq x_0}} |h_1(x, y)| \le \varepsilon$, for all $y \in V_1(y_0)$

Combining with (5) we obtain

$$u(x_0, y) - u(x_0, y_0) = 0, \forall y \in V(y_0) \cap V_1(y_0)$$

This obviously implies $(\partial u/\partial y)(x_0, y_0) = 0$.

Analogously, taking $y=y_0$ in (4) as above we have $[\partial v/\partial x](x_0,y_0)=b$.

Then passing to limit with $x \to x_0$ in (4) and taking into account that G(x) = v(x, y) is continuous in x_0 , it follows

$$v(x_0, y) - v(x_0, y_0) = a(y - y_0) + \lim_{\substack{x \to x_0 \\ x \neq x_0}} h_2(x, y) \cdot 0 + \lim_{\substack{x \to x_0 \\ x \neq x_0}} h_1(x, y) \cdot (y - y_0), \text{ for all }$$

 $y \in V(y_0)$.

Reasoning as above, there exists $V_i(y_i)$ such that

$$v(x_0, y) - v(x_0, y_0) = a(y - y_0) + \lim_{\substack{x \to x_0 \\ x \neq x_0}} h_1(x, y) \cdot (y - y_0), \forall y \in V(y_0) \cap V_1(y_0).$$

Dividing by $y - y_0 \neq 0$ and then passing to limit with $y \rightarrow y_0$ we get

$$[\partial v/\partial y](x_0, y_0) = a + \lim_{\substack{x \to x_0 \\ y \to y_0 \\ x \neq x_0, y \neq y_0}} h_1(x, y) = a + 0 = a$$

As conclusion, $[\partial u/\partial y](x_0, y_0) = 0$ and $[\partial u/\partial x](x_0, y_0) = [\partial v/\partial y](x_0, y_0)$.

Now let suposse that u and v are q-differentiable in (x_0, y_0) and satisfy the relations (2) in Theorem 2.6.

By Lemma 2.8, (ii) and by hypothesis we get

$$u(x,y)-u(x_0,y_0)=a(x-x_0)+\omega_1(x,y)\cdot(x-x_0)^2/\sqrt{(x-x_0)^2+(y-y_0)^2},$$

$$v(x,y) - v(x_0, y_0) = A(x - x_0) + a(y - y_0) + \omega_2(x,y) \cdot (x - x_0)^2 / \sqrt{(x - x_0)^2 + (y - y_0)^2}$$
, for all $x \neq x_0$, y_0 such that $z, z_0, z - z_0 \in D$, where

$$\lim_{\substack{x \to x_0 \\ y \to y_0 \\ x \neq x_0}} \omega_i(x, y) = 0, \ i = 1, 2 \text{ and } a = \left[\frac{\partial u}{\partial x}\right](x_0, y_0), A = \left[\frac{\partial v}{\partial x}\right](x_0, y_0)$$

By simple calculus we get

$$f(z) - f(z_0) = (a+qA) \cdot (z-z_0) + (x-x_0)^2 \cdot [\omega_1(x,y) + q\omega_2(x,y)] / \sqrt{(x-x_0)^2 + (y-y_0)^2}$$

Dividing by $z-z_0 \notin Z_q$ and then multiplying with $1=[(x-x_0)-q(y-y_0)]/[(x-x_0)-q(y-y_0)]$ on the right hand, we arrive at

$$[f(z) - f(z_0)]/(z - z_0) = a + qA + \omega_1(x, y) \cdot (x - x_0)/\sqrt{(x - x_0)^2 + (y - y_0)^2} + q \cdot [\omega_2(x, y) \cdot (x - x_0)/\sqrt{(x - x_0)^2 + (y - y_0)^2} - \omega_1(x, y) \cdot (y - y_0)/\sqrt{(x - x_0)^2 + (y - y_0)^2}]$$

Passing to limit with $z \to z_0, z - z_0 \notin Z_q$ (which is equivalent with $x \to x_0, y \to y_0, x \neq x_0$) by

 $|x-x_0|/\sqrt{(x-x_0)^2+(y-y_0)^2} \le 1, |y-y_0|/\sqrt{(x-x_0)^2+(y-y_0)^2} \le 1,$ and by the hypothesis on $\omega_i(x,y)$ we immediately get

$$\lim_{\substack{z\to z_0\\z-z_0\notin Z_q}}[f(z)-f(z_0)]/(z-z_0)=a+qA, \text{ which proves the theorem.}$$

REMARKS. 1). If $q^2 = -1$ it is known that the q-differentiability of u and v in (x_0, y_0) together with the Cauchy-Riemann conditions in (x_0, y_0) is even equivalent with the monogeneity of f in $z_0 = x_0 + qy_0$.

2). In the cases when $q^2 = +1$ or $q^2 = 0$, there exist functions f = u + qv with u and v q-differentiable in $(x_{\alpha}y_{\alpha})$ and satisfying (1) or (2), respectively.

Indeed, for $q^2 = +1$ let us define

$$u(x,y) = \begin{cases} 0, |x| = |y| \\ |x^2 - y^2|, |x| \neq |y| \end{cases}, v(x,y) \equiv 0, f(z) = u(x,y), z = x + qy. \text{ We have}$$

$$[\partial u/\partial x](0,0) = \lim_{\substack{x \to 0 \\ x \neq 0}} [u(x,0) - u(0,0)]/x = \lim_{\substack{x \to 0 \\ x \neq 0}} x^2/x = 0,$$

$$[\partial u / \partial y](0,0) = \lim_{\substack{y \to 0 \\ y \neq 0}} [u(0,y) - u(0,0)] / y = \lim_{\substack{y \to 0 \\ y \neq 0}} y^2 / y = 0,$$

$$[\partial v / \partial x](0,0) = [\partial v / \partial y](0,0) = 0.$$

Also, $u(x,y) - u(0,0) = 0 \cdot x + 0 \cdot y + \omega(x,y) \cdot |x^2 - y^2| / \sqrt{x^2 + y^2}$ for all $|x| \neq |y|$, where $\omega(x,y) = \sqrt{x^2 + y^2}$ satisfies $\lim_{\begin{subarray}{c} x \to 0 \\ y \to 0 \\ |x| \neq |y| \end{subarray}} \omega(x,y) = 0$, i.e. u is q-differentiable in (0,0).

Analougously, for $q^2=0$ we define

$$u(x,y) = \begin{cases} x^2, x \neq 0, y \in R \\ 0, x = 0, y \in R \end{cases}, v(x,y) \equiv 0, f(z) = u(x,y), z = x + qy. \text{ It is easy to check that}$$

 $[\partial u/\partial x](0,0) = [\partial u/\partial y](0,0) = 0$ and u is q-differentiable in (0,0) with $\omega(x,y) = \sqrt{x^2 + y^2}$.

3). Let $q^2 = +1$. The sufficient conditions of q-monogenity in Theorem 2.9 however are not necessary. Indeed, let us define $f(z) = u(x,y) + q(x,y), z = x + qy, z_0 = 0$,

$$u(x,y) = \begin{cases} x(x^2 + y^2), |x| \neq |y| \\ 0, |x| = |y| \end{cases}, v(x,y) = \begin{cases} y(x^2 + y^2), |x| \neq |y| \\ 0, |x| = |y| \end{cases}$$

We have

$$f'(0) = \lim_{\substack{z \to 0 \\ |x| \neq |y|}} [f(z) - f(0)]/z = \lim_{\substack{x,y \to 0 \\ |x| \neq |y|}} [u(x,y) + qv(x,y)]/(x + qy) = \lim_{\substack{x,y \to 0 \\ |x| \neq |y|}} (x^2 + y^2) \cdot (x + qy)/(x + qy) = \lim_{\substack{x,y \to 0 \\ |x| \neq |y|}} (x^2 + y^2) = 0,$$

wich means that f is monogenic in $z_0 = 0$.

On the other hand u is not q-differentiable in (0,0). Indeed, let suppose that u is q-differentiable. We easily get $[\partial u/\partial x](0,0) = [\partial u/\partial y](0,0) = 0$ and therefore by Lemma 2.8, (i) we get

$$u(x,y) = \omega(x,y) \cdot [x^2 - y^2] / \sqrt{x^2 + y^2}$$
, for all $|x| \neq |y|$, with $\lim_{\substack{x,y \to 0 \\ |x| \neq |y|}} \omega(x,y) = 0$.

It follows $x(x^2 + y^2) = \omega(x, y) \cdot [x^2 - y^2] / \sqrt{x^2 + y^2}$, which implies $\omega(x, y) = x(x^2 + y^2)^{3/2} / [x^2 - y^2]$, for all $|x| \neq |y|$.

Now, choosing for example $x_n = 1/\sqrt{n}$, $y_n = 1/\sqrt{n+1} \rightarrow 0$, $|x_n| \neq |y_n|$, by simple calculus we obtain

$$\omega(x_n, y_n) = (2n+1)^{3/2} / [n\sqrt{n+1}] \xrightarrow{n \to +\infty} 2$$
, contradiction.

REFERENCES

[1] W. Benz, Vorlesungen über Geometrie der Algebren, Springer, Berlin, 1973.

- [2] P. Capelli, Sobre las funciones holomorfas y polygenas de una variabile compleja binaria, Anales Soc. Cient. Argentina, 128 (1939), 154-174.
- [3] P. Capelli, Sur le nombre complexe binaire, Bull. Amer. Math. Soc. 47 (1941), 585-595.
- [4] A. Duraňona Vedia, J.C. Vignaux, Sobre los series de numeros complejos hiperbolicos, Univ. Nac. La Plata, Publ. Fac. Ci. Fisicomat. Contrib., 104(1935), 117-138.
- [5] A. Duraňova Vedia, J.C. Vignaux, Sobre la teoria de las funciones de una variabila compleja hiperbolica, Univ. Nac. La Plata, Publ. Fac. Ci. Fisicomat. Contrib. 104 (1935), 139-183.
- [6] A. Duraňova Vedia, J.C. Vignaux, *Serie de polinomios de una variabila compleja hiperbolica*, Univ. Nac. La Plata, Publ. Fac. Ci. Fisicomat. Contrib., 107 (1936), 203-207.
- [7] P. Fjelstad, Extending special relativity via the perplex numbers, Amer. J. Phys., 54 (1986), 416-422.
- [8] P. Fjelstad, Inventing different kinds of physics, unpublished manuscript.
- [9] I.L. Kantor, A.S. Solodownikov, Hypercomplexe Zahlen, Teubner, Leipzig, 1978.
- [10] V. Majernic, Basic space-time transformations expressed by means of two-component number system, Acta Physica Polonica A, 86 (1994), 291-295.
- [11] V. Majernic, Galilean transformation expressed by the dual four component numbers, Acta Physica Polonica A (will appear).
- [12] M. Rosculet, *Monogenic Functions on Commutative Algebras* (Romanian), Academic Press, Bucharest, 1975.
- [13] J.C. Vignaux, Sobre el numero complejo hiperbolico y su relacion con la geometria de Borel, Univ. Nac. La Plata, Publ. Fac. Ci. Fisicomat. Contrib., 102 (1935), 47-68.
- [14] J.C. Vignaux, La teoria de las funciones poligenas de una y de varias variables complejas duales, Univ. Nac. La Plata, Publ. Fac. Ci. Fisicomat. Contrib., 107 (1936), 221-282; 109 (1937), 389-406.
- [15] J.C. Vignaux, *Interpretation geometrica de la derivada radial de una funcion poligena dual*, Univ. Nac. La Plata, Publ. Fac. Ci. Fisicomat. Contrib., 109 (1937), 381-387.
- [16] J.C. Vignaux, Sur les fonctions polygènes d'une ou de plusieurs variables complexes duales, Atti. Accad. Naz. Lincei. Rend. Cl. Sci. Fis. Mat. Natur (6), 27 (1938), 514-518.
- [17] J.C. Vignaux, *La teoria de las funciones de variabile compleja bidual*, Univ. Nac. La Plata, Publ. Fac. Ci. Fisicomat. Contrib., 118 (1938), 505-542.
- [18] J.C. Vignaux, Estension de metodo de somacion de M. Borel a las series de funciones de variabile compleja dual e hiperbolica, Anales Soc. Ci. Argentina, 122 (1939), 193-231.
- [19] J.C. Vignaux, Sulle funzioni poligene di una variabile hicomplesa duale, Atti. Accad. Naz. Lincei. Rend. Cl. Sci. Fis. Mat. Natur. (6), 27 (1938), 641-645.
- [20] J.C. Vignaux, Sobre las funciones poligenas de variabile compleja y bicompleja hiperbolico, Anales Soc. Ci. Argentina, 127 (1939), 241-407.
- [21] I.M. Yaglom, Complex Numbers in Geometry, Academic Press, New York, 1968.

Department of Mathematics University of Oradea Str. Armatei Române 5 3700 Oradea ROMANIA

Recibido en Mayo de 1995